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= 41,714
< 18,771
e 43,799
02 22t X2 AL 2= (01X THE) 104,284 289,043 A 184,759
OAEZ&ududxoEgss(UXEZ)
208,568,000 *50% 104,284
= 41,714
< 18,771
[ia 43,799

- 421 -




2N
X ZH -
L= B

el

0l &t o

=

i
2m

ot
A
=
s
ol
0
>

Mo

114,000

95,000
19,000

,600

A 87,600

M H

114,000

95,000
19,000

201,

600

A 87,600

M

114,000

114,000

95,000
19,000

201,

600

A 87,600

SEMASRA (A0 =S
)

SHOIHI S OH & A )

EUNL

34,500

28,750
5,750

89,

352

N 54,852

402 RI2HX=01 M

EUNL

34,500
28,750
5,750

89,

352

A b54,852

SEANT

(SHoIHl =)
57,500,000& «60%

M

34,500

34,500

28,750
5,750

89,

352

N 54,852

D=HIOISTHEAIE X &

HH A

187,728
75,091
33,791
78,846

20,

372

167,356

402 QI2tXt=01 &

MW

187,728
75,091
33,791
78,846

20,

372

167,356

02 QX =2AMAE (0 ATHE)
J

Fe THEHAIE XI&

Ared
375,455,000 «50%

MR

187,728

187,728
75,091
33,791
78,846

20,

372

167,356

ANE20S e A&

S

UL

187,998
75,199
33,840
78,959

302,

065

A 114,067

402 QI2tXt=01

N

VY

187,998
75,199
33,840
78,959

302,

065

A 114,067

02 Q=AML EE(0IATHE)

187,998

302,

065

A 114,067

- 422 -




AN sS4
XMZIH: =A
==

SRl RNSH Hae

SN FH-SA(EN) - MBAY - BES

0l &t o

=
i

2Hm
==
£l
Ol
0y

OAIZ 20l S CHEt AL

375,995,000& *50%

S

Mo

187,998
75,199
33,840
78,959

EURLY

16,307

4,892
11,415

22,467

AB,

160

402 QI2tXt=01 ™

M H

16,307

4,892
11,415

22,467

AB,

160

02 (IR 2ALE X (0OIETHR)
A

2SI N

27,178,000 «60%

M

16,307

16,307

4,892
11,415

22,467

AB,

160

ry
i

0g

M

45,780

13,734
32,046

45,

780

402 212t A= 01 &

EURLY

45,780

13,734
32,046

45,

780

02 el2tXt=

>
9
H
P

OlETH&)
)

A0tEE

A ALY

65,400,000 «70%

Mo

45,780

45,780

13,734
32,046

45,

780

Hllsdt= AL - ZH N2 A

M H

76,000

38,000
38,000

76,

000

402 212t A= 01 &

VR

76,000

38,000
38,000

76,

000

EURE

76,000

76,000

38,000
38,000

76,

000

S

EUNE

299,326
119,730

53,879
125,717

241,500

57,

826

402 QIZ2tXt=01 ™

S

M

299,326
119,730

53,879
125,717

241,500

57,

826

02 (IR 2AILE X (01 ETHR)
X A

Ot+=NSEANES UK A

598,651,000& *50%

299,326

299,326

241,500

57,

826

- 423 -




AN sS4
XMZIH: =A
==

A
Sl RNSH XM S (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

S

119,730
53,879
125,717

M

FTA Dt==AtE H & =8 & 2/ XA 2,700 2,700 0
Il 2,700

307 21201 & 2,700 2,700 0
Jl 2,700

ETES 2,700 2,700 0
easy o el 2,700
bl 2,700

StIDUAHA K 30,496 30,496 0
15,248
4,574
10,674

Mo

307 21201 A 30,496 30,496 0
15,248
4,574
10,674

Mo

02 I HAMAEE 30,496 30,496 0
Ostn e 2tAa X &AL 30,496
15,248

4,574
10,674

MW

TH AR AHOHE ALY 109,200 95,400 13,800

32,700
76,500

EUNE

307 glztol & 109,200 95,400 13,800
32,700
76,500

M

ES 109,200 95,400 13,800
FERIAFS 109,200

32,700
76,500

EURLY

XA MADIBE IS AS (AMEALY) 832 2,400 A 1,568
693
139

M

402 2I2tXt=01& 832 2,400 A 1,568
693
139

Mo

Ol TH&) 832 2,400 A 1,568

02 BIAT 2 AR B
Ha Mg RS AL

O
H
>
>
-
0z
z
N

1,386,000 «60% 832

693
139

UL

SEEASAMNEEEU N2 19,375 0 19,375
Il 7,750

- 424 -




AN s
= o
=g

=R R S& 223 A
Sl ROUISE XM SO CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 11,625
402 RI2EX20| A 19,375 0 19,375
J| 7,750
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& 5,400
= 12,600
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=g 2 ZHEH A= EHd 72,000 54,000 18,000
< 21,800
s 50,200
307 gl2tol & 30,000 24,000 6,000
< 9,000
s 21,000
02 It HAHE L 30,000 24,000 6,000
O=Zg AEHA 23HH 60,000,000 *50% 30,000
< 9,000
= 21,000
402 RIZEX201 ™ 42,000 30,000 12,000
< 12,800
e 29,200
02 U2 THEALEZ(0IETHR) 42,000 30,000 12,000
OZ Ul JIZA=SE N
7CH*10,000,000& *60% 42,000
< 12,800
[ia 29,200
ELMZ20F ICT 858 XN (XXEA) 209,105 462,700 A 253,595
J| 125,463
e 83,642
402 212t X =0 & 209,105 462,700 A 253,595
Il 125,463
s 83,642
02 U2 THEALEZ(0OIETHR) 209,105 462,700 A 253,595
O =420 ICTe=EE XA
418,210,000 *50% 209,105
J| 125,463
e 83,642
DssELLA=ZILEAY 88,600 84,040 4,560
< 26,580
e 62,020
402 RIZEX20| A 88,600 84,040 4,560
< 26,580
s 62,020
03 212t &AL S HI 88,600 84,040 4,560
OlnsgEYL=2I LA 35,4403 x2,5005 88,600
< 26,580
s 62,020
NEANE D219 UHSAAE 25 20,000 0 20,000
< 12,500
s 7,500
402 RI2tXt20l ™ 20,000 0 20,000
< 12,500
s 7,500
02 2IZt X2 AL EZ (OIS ) 20,000 0 20,000
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Pl 13,800
& 4,140
= 9,660
SAEAE NS AR 39,820 22,615 17,205
= 11,945
= 27,875
307 2Iz2t0| & 39,820 22,615 17,205
= 11,945
= 27,875
02 QIZHA AAIE E X 39,820 22,615 17,205
O=EMEZBIHEALY 39,820,000 x 1Al 39,820
=} 11,945
= 27,875
EMEHINAS NS AS 10,100 14,300 A4 ,200
< 3,030
= 7,070
307 QI2t0| ™ 10,100 14,300 N4 ,200
< 3,030
= 7,070
02 QI2tAAMAIE E =X 10,100 14,300 A4 ,200
OFAMEtFME NEXSAS
10,100,000 « 1 Al 10,100
= 3,030
= 7,070
IEE2R N3 AFY 854,400 640,420 213,980
307 2iztol A 548,400 334,420 213,980
02 QIZ2IA AAIE E X 548,400 334,420 213,980
Oste 23 XNEAY 600,000 *600CH *40% 144,000
O&FEA~ 23 XNEANY 600, 0002 *500CH *40% 120,000
O2UE 2 XANS(SEEAH 100,000
O2AH 23 NSAY 600,000 *500CH *40% 120,000
O Meldl (&Hel=AH) X
23,000& x14 ,000= *20% 64,400
402 RI2H X201 M 306,000 306,000 0
03 QI 2t EF A HI 306,000 306,000 0
OEMHI B M AHH| X AFE 180,000,000 =14l 180,000
OIsER 2sXHdE XA
126,000,000 = 14! 126,000
DEX AR J|pRE 106,060 101,300 4,760
307 2iz2to| A 67,440 70,000 N 2,560
02 QIZ2FA AAIE E X 67,440 70,000 A 2,560
OXRA HHEI S 20,000& *2,500H *40% 20,000
OXRA BHEAMSEIIM K&
5,000& =10, 000kg*40% 20,000

- 432 -



SN SYELD
Hu: SNQUH HASY L3
ool HAYY JIBEY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&A =RI| NEHM X
35,000& *1,960 *40% 27,440
402 2I2t X201 A 38,620 31,300 7,320
01 DIZFXI2AIE E X (XM THE ) 38,620 31,300 7,320
O&EA 830 N 3,500, 000& *20CH *40% 28,000
O&XA HHetEXIIl XI& 770,000 *15CH *40% 4,620
O&EA 22 XI XI& 1,000,000 *15CH *40% 6,000
HES2 24 XA 122,400 217,995 N 95,595
402 22t X201 A 122,400 217,995 AN 95,595
01 DI XI2AIE E X (XM THE ) 22,400 117,995 N 95,595
OstREZEZI| XNEAY 1,400,000& 402 x40% 22,400
03 QI2tR{EF AL B 100,000 100,000 0
Ost1Z 3 XIJAL 10,000& %10, 0004 100,000
A= S ASAS 322,000 227,000 95,000
206 M = dl 200,000 200,000 0
01 & bl 200,000 200,000 0
OgsE AxMZH K&
200,000,000& * 14! *100% 200,000
402 212t X 20| & 122,000 27,000 95,000
01 DI2F X 2AIE E X (XM THE ) 122,000 27,000 95,000
OgE M2M&ED K& 6,000, 000& *5CH *40% 12,000
OdsE 2d &t J& 10,000, 000& *5JH x40% 20,000
O¥E =242l &H X& 90,000, 000& *14] 90,000
o2 Mary sA X& 76,000 53, 150 22,850
402 Q12+t X2 0| & 76,000 583, 150 22,850
01 DIZFXI2AIE E X (XM THE ) 76,000 53, 150 22,850
o2 &2J XA 6,000, 000& * 10 *40% 24,000
Oz 8201 XA 800,000 *100CH *40% 32,000
OJI2A S EH| 5,000, 000& = 10CH *40% 20,000
ASAHE 224 X 175,000 160,000 15,000
402 22t X201 A 175,000 160,000 15,000
01 DI XI2AIE E X (XM THE ) 175,000 160,000 15,000
OLZ2INXM X 160,000, 0003 * 14 160,000
OEZY X3AAL 300, 000& 1002 *50% 15,000
SEA MEHA HA 62,400 56,800 5,600
402 Q12H X201 & 62,400 56,800 5,600
01 DIZFXI2AIE E X (XM THE ) 62,400 56,800 5,600
O A JIXNM A 62,400,000& =14 62,400
HE2 MAD|BESAIY 307,942 79,840 228,102
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J| 151,800
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= 106,260
02 BIZtXIEANYEX(0OIETHH) 303,600 230, 124 73,476
OSALFOHL ALS 303,600,000& 1Al 303,600
Dl 151,800
= 45,540
= 106,260
A MAL HlHelAlE XS 51,000 51,000 0]
= 15,300
= 35,700
402 SI2tXHE0| ™ 51,000 51,000 0
= 15,300
= 35,700
02 QI2ZtXIE A E X (0| X THSH) 51,000 51,000 0
OEERMHES HSH2IAE XNEAY
102,000, 000& *50% 51,000
o 15,300
= 35,700
=2 XelAtY 60,800 0 60,800
= 18,240
= 42,560
307 QI2t0| ™ 4,800 0 4,800
= 1,440
= 3,360
02 QI2tAMAIE E =X 4,800 0 4,800
QEARSAE JIEE2 =Ml AL
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= 3,360
402 SI2F 20| ™ 56,000 0 56,000
& 16,800
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OMUY| H&E DESHA HA
10,000, 000& *8IH A *70% 56,000
& 16,800
= 39,200
St ZXHEQOI AAN XIRAS (FHESALY) 55,000 55,000 0
& 16,500
= 38,500
307 2iz2to| & 55,000 55,000 0
& 16,500
= 38,500
02 QIZIA AAIE E X 55,000 55,000 0
Ot Xl HAF XNEAS
5,5005 20,000 *x50% 55,000
& 16,500
= 38,500
s ael 8 235 3,681,351 3,049,071 632,280
= 1,118,874
J| 223,076
= 489,394
= 1,850,007
Qe FSHAY 150,000 150,000 0
307 2Iz2tol & 150,000 150,000 0
02 QI AAIE E X 150,000 150,000 0
O2LI EHAY 150,000
Pl EH HARE S 100,000 100,000 0
207 A3 & 100,000 0 100,000
01 Y| 100,000 0 100,000
Ozl 84 A3 8<Y 100,000
) =-=1ged] 316,500 266,300 50,200
201 et 46,400 44,000 2,400
01 AP 2t 2] H| 41,400 39,000 2,400
OJIF&XHE Heldls 3,000
ONSYAALEA 22K S|
8,000 x5H 30 x8& 9,600
ONSYAHHARA 22
60,000& »2H x30 x8 & 28,800
02 =224 H| 5,000 5,000 0
oz |X 2,500, 000& «2LH 5,000
206 M = dl 92,000 42,000 50,000
01 X2 bl 92,000 42,000 50,000
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301 et A= 37,200 30,000 7,200
12 JIEtE A2 37,200 30,000 7,200
OdHE el He XEAY
300,000 2005 *50% 30,000
O 2L ALOYA =AHXEH]
300,000 2 x12& 7,200
307 2Iz2t0| & 130,900 132,900 A 2,000
02 DIZFEAAIRE E X 130,400 132,400 A 2,000
OPHY U ZRASZUT ASAE 7Y
20,000& *5,000kg*40% 40,000
OgA JIME 2MAIE 13,750,000 * 14! %*40% 5,500
O HAS2AH X3 AL
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OWYX g ESeA X JAASH
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O Z2EZ A X3 AS
9,000 x5,000E *40% 18,000
OHYXI/=-80geal XA
650 x40,0005 *40% 10,400
ONA RYAWA XA
50,000, 000 x1A! x40% 20,000
06 282 500 500 0
O3x9 MAl2E 125,000& »4H 500
402 SI2FXHE0| ™ 10,000 10,000 0
01 St EANSE X (M) 10,000 10,000 0
OXNHFNSASAHH KNSFAY
5,000, 000& *57] *40% 10,000
) i—g=lgecely 363,514 369,783 AB,269
= 161,647
= 60,593
= 141,274
206 M = dl 247 114 253,383 AN6,269
= 103,447
=} 41,193
= 102,474
01 XHEH 247,114 253,383 N6,269
ON=gAANZ (YR MIEIOIHAA H2)
247 114,000 1Al 247,114
= 103,447
o 41,193
= 102,474
307 2I2t0| & 116,400 116,400 0
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< 19,400
[ 38,800
QX228 AKX 21,000 30,000 A 9,000
= 10,500
< 3,150
e 7,350
307 gl & 21,000 30,000 A 9,000
= 10,500
< 3,150
fia 7,350
02 It MAHEE 21,000 30,000 29,000
OYXNABHEE NEX ALY
5,000, 000& *7IH 2= «60% 21,000
= 10,500
< 3,150
e 7,350
SZ4det MHEH 90,000 90,000 0
= 27,000
< 18,000
s 45,000
301 LEEAZ 90,000 90,000 0
= 27,000
< 18,000
s 45,000
12 JE2 4= 90,000 90,000 0
O4a B=24et el 10,000& *9, 0005 90,000
= 27,000
< 18,000
s 45,000
FRUAAMER Sdz N2 23,760 30,390 A 6,630
= 11,880
< 3,564
[ia 8,316
402 RIZ2HRt20l 23,760 30,390 A6,630
= 11,880
< 3,564
s 8,316
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= 11,880
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l2sIt2Y 22 X3 A 30,000 30,000 0
= 15,000
& 4,500
= 10,500
307 2Iz2t0| & 30,000 30,000 0
= 15,000
= 4,500
= 10,500
02 QIZIAAAIE E X 30,000 30,000 0
OJZ2sotadg 22 NI AE
10,000, 000& 524 *60% 30,000
= 15,000
& 4,500
= 10,500
SHEAS2HE & ASHIESAE 138,000 138,000 0
= 69,000
= 69,000
101 124 4] 108,800 108,800 0
= 54,400
= 54,400
04 JI2ZtHIZ22NEES 108,800 108,800 0
OJI2ZtMZ22 X S =
20 2~ *8% x80,000& »85L 108,800
= 54,400
= 54,400
201 gBt2Ad| 24,000 24,000 0
= 12,000
= 12,000
01 AP 2t 2| H| 14,000 14,000 0
OEMN=4 2¢Y 2 2~ +7,000,000& 14,000
= 7,000
o 7,000
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301 etEd3g 2,700 2,700
= 1,350
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OAIZ+0I B AL S EAEH XI&
45,0003 *604 2 2,700
= 1,350
< 405
s 945
HEASAE 2EXE 240,000 240,000
< 69,000
s 171,000
101 @124 4] 204,000 204,000
< 60,000
= 144,000
04 JIZHHZ2XNHESE S+ 204,000 204,000
OJZHE2NEE 2 824 85,0002 *300L 204,000
= 60,000
e 144,000
201 L2l 36,000 36,000
< 9,000
= 27,000
01 At 2t 2l 26,000 26,000
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= 50,000
= 50,000
12 JIEtE A2 500,000 300,000 200,000
OadaeEMaZ3 500,000,000 » 14! 500,000
= 400,000
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307 glz2tol & 38,388 0 38,388
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s 27,420
02 PIZHEHAHE L 38,388 0 38,388
OHXZYE Hgxs X 54,840,000 x70% 38,388
< 10,968
s 27,420
THSE EESA GANLIAHAH 2= 189,810 141,660 48,150
< 58,439
e 131,371
206 M= Hl 142,730 40,060 102,670
< 42,819
e 99,911
01 =8l 142,730 40,060 102,670
OFHY 22 HH| 116,000, 0003 * 14 116,000
< 34,800
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OWAAEYA 23R X2 (S X))
330& 81,0005 26,730
< 8,019
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12 J|EBHE &= 2,200 57,200 A 55,000
ONEEZE A=l 20,0002 1105 2,200
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307 glz2tol & 44,880 44,400 480
< 14,960
e 29,920
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